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1. Assume that people have preferences over health and they demand healthcare services only
for its ability to give the desired health. Both health and healthcare services are normal
commodities. For the production of an additional unit of health, 8 units of healthcare
services are required. Denote health by 4 and healthcare services by s. The price of the
generic good ¢ and that of healthcare services are P and P respectively and P = p
= 1. Markets for health, healthcare services and of the generic good are perfectly

competitive. PTO.
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Dén've"the budget cbnstmint of the individual with income m, Show it diagrammatically

along with an indifference curve with § = 1. 3
Assume 6 = 1 for an individual ;j with income m. Analyze using appropriate diagrams

and explaining briefly the worsening of an indivdual's health status to 0 =2 in both

the (c, h) space and the (¢, 5) space. Make necessary assumptions. 7
Give the income expansion curves for :
() healthcare services as a necessity,

(#) healthcare services as a luxury good. 5
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Consider a situation where three drugs are available to treat a particular disease.

The probability of avoiding death changes as follbws :
) '~ For Drug 1, from 0.2 to 0.24, and it costs Rs 10 per treatment;
(@) For Drug 2, from 0.2 to 0.27, and it costs Rs 7 per treatment;

(i) For Drug 3, from 0.2 to 0.38, and it costs Rs 5 per treatment;

Calculate the cost-effectiveness (C/E) of each drug. Which drug is most cost-

effective ? 3

What according to Deaton and Dréze (2009) are the reasons for the paradox of
rising per capita consumption expenditure and a fall in per capita calorie intake in

India ? 12
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Suppose there is a population of individuals whose nmnb_& is normalized to one. Let
~n € [0,1] be the fraction of individuals who are immunized. The probability of contracting
an infectious disease is given by p(n) = Py (n - 1), where Dy 1s the probability of
contracting the diesease when none in the population is immunized. Assurﬁe that the
vaccination provided is fully e_ffective..lndividuals are indentical in all respects and the cost
- of illness is assumed to be the same across all individuals and is equal to one. The

marginal cost of the vaccination is a constant, c.

(a) Derive the private and social marginal benefit. What is the relationship between the

two ? : 6
(b) Show diagrammatically the private optimum and the social optimum. - 4

() What are the possible reasons that make government/policy makers pursue full

immunization ? 5
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Using appropriate diagrams, analyze the effect on relative wages of females to males
of :

(1) A decrease in the number of non-discriminatory employers. 4
(i) An increase in the discriminatory preferences of employers. 4

Students' educational performance may not increase just by increasing monetary

resources. Improving teaching quality is critical for this. Discuss. . 7
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Calculate. Human Development Index (HDI) with the following data : Life expectancy
(years) : 69.3, Mean years of shcooling : 6.9, Expected years of schooling : 12.8,
Gross National Income : (2011 PPP $) 15,509. [Hint : In (75000) = 11.23;

In (100) = 4.61; In (15509) = 9.65; 3/0.3381 = 0.6967]. -3

While creating the dimension index for a decent standard of living, why is the natural

logarithm of income being used ? 2

Discuss the link between demographic and epidemiological transitions. In light of this,

explain the major health challenges faced by any economy. - 10
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Consider a village where individuals are expected to live up to the age of 75 years.
However, there is a disease which is detected only at the age of 15 years, not
before. This disease reduces the quality of life of a person to 0.75 of a year for
the first ten years of the disease and then 0.04 of a year till the age of.35, resulting
in the death of the individual thereafter. The government comes up with a program
which treats this disease at the time of detection only, and then the person can live

up to his full life. Calculate Quality Adjusted Life Years (QALY) saved per person

for this treatment. 3

Explain briefly the three methods used for valuing the benefits of health projects.
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In the market for delivexy truck drivers, L, =-45 + 5W and L, = 180 — 10W.
In the market for cab drivers, L, =-15 + 5W and L, = 180 -~ 10W , where
L = number of workers and W = wage in rupees per hour, L, and L refers to
labour supply and labour demand respectively. Find the equilibrium wage and
employment level in-each occupation, and explain what will happen if a comparable-
worth law mandates that the cab drivers' wage be increased to equal the delivery
truck drivers' wage. Use a graph. ’ 5

‘Suppose that MRP, = 40 - 0.5L for left-handed workers, where L = the number

of left-handed workers and MRP, is measured in rupees per hour. The going wage

for left-handed workers is Rs 20 per hour, but employer A disncriminates against

these workers and has a discrimination coefficient, D, of Rs 10 per hour. How many
left-handed workers will employer A hire ? How much profit has employer A lost
by discriminating ? 5

Explain the labour market discrimination model of crowding, 5
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Define occupational segregation. Does it reflect labour market discrimination ? Explain

briefly how we measure occupational segregation. | 8

_Discuss the arguments regarding the role of education put forward by both the

~ advocates of eduaction as "signaling" and education as "Human Capital
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Investment". , | 7
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